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At & o 3-171?} M/Instructions to the Candidates

1. mqﬁagméamaﬂﬁmammﬁﬂ-waaémwaﬂuﬁfﬁ@aﬁm#%v
mﬁﬁa%mw%m%mﬁéaﬁmaqﬁﬁa@r%mﬁm%waﬁ@mmaﬁ
3@ & Y 3kt 31 e it STusf|

You have been called for the written test based on the online data furnished by you in the web application. If

you have wrongly entered in the web or you do not possess the required qualification as per our

advertisement, vour candidature will be rejected.

2. gt gt 3 fordiaTen T SufRufa & & v gfa-Rere/wictans W gedreR e @R

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. 9RE-UH, 60 T A erc TRA-GRecTehT & §9 A ¥

The Question paper is in the form of Question Booklet with 60 questions. ‘

4. 9T o ec et & ForT 31697 INTHAR Secek-giecrshr & Sreef|

A separate OMR answer sheet will be provided for answering the Questions.

5. maﬁﬁﬁrﬁaﬁﬁqw-gﬁ?ﬁﬂvﬁaﬂgm@/ﬁ@@. INTAIR Sea Yfeaerr X HEse
TUH X_forgar Tnfgo|

Question booklet series code (A/B/C/D/E) printed on the right hand top corner should be written in

the OMR answer sheet in the place provided.

6. TReA-GREART H IR ATH AT HeJohalieh TeT ford |
Enter your Name and Roll Number correctly in the question booklet.

7. HTAAR ScaR-gieden 7 el wfafeean Sef/areh v & afer e 397 8 & 1 5= aiRwy

All entries in the OMR answer sheet should be with blue/black ball point pen only.



10.

Tl

12

13.

14.

15.

e &q Ui deaar & 3R R, @ odet ar 3ea’t & @ aegfass 9 7 g, S
A FHael U AT F7 & T g1

The written test will be of objective type based on the qualification prescribed for the post with four answers
indicated, of which only one will be unambiguously correct.

3TTERT, Sca-GReceT 7 T 31T il & @R, Aol TET & die aISe 9T ¥ 3NTHAIR
3ceR-GEcehl # Helftrd 3HTael i 3ifehd X TEY Scak T TdeA HIAT 8 |

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by

blue/black ball point pen as per the instructions given in the answer sheet.

Teh 2T & ToIT 3153 I} ITeTd ATAT ST | Il 3l & [T AT 3{eh ABI 6T ST

Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong

fofere aliell Teare glel & HeX FYX, HAFAC. GBS Bl dUT He FolFelieldh JITct
UIST-YEceh, HAlE HTTe, eflel &l HeTHTA el & Suai|

Computers. calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be

allowed inside the written test hall.
et ot 1R 9%, SNTHAT IcaR-Iasht I 3R F daet R & 613 3R Far NTAAR seaw-
g forliar @ 6T Tor qad afer 3o g @)

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand

over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

geeT-gieaet 33t 3re) are @ w £

The question booklet can be retained by the candidate.

TQETT & T 6T & SR 3rsaft o adiet gfe orse i At 781 31

Candidates are not permitted to leave the examination hall during the first hour of the examination.

375 Y AETTehR B THgEaE/Ehie-5a Ha & forw & forf@a advet Tersg s €1

The written test is conducted only to shortlist/screen-in the candidates for interview.
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Technician B Chemical Operator (Instrument Mechanic)

. TR g 3T e YRR & ARG ... & AT ¥ AT S gahdr g

Both temporary and permanent hardness can be removed by using

a) Telhs oll3H/Slaked lime b) aTfRIeT AST/washing soda
¢) NaCl ‘ d) Fifeesd TSl caustic soda

. AT ST H Refaf@a faftr ganr dar far srar )

Deionised water is prepared by the following method

a) FolTeh I/Clark’s b) 3T fafei# T /ion exchange
c) Wﬂﬁ'c’fpermutit d) STeldTed/calgon

A ———— & AT & AR 9= & H9 1 B9t srfeaera frar

ST & 1Degree of hardness of water is expressed in terms of PPM of

a) CaO b) CaCl, c) CaCos d) Ca(Hcos),
. TR & BIBIE] oinmremsssmnsninsisisanass &1/Chemically soap is

a) WIETA [Eeave/Sodium stearate b) Fierd TeaIe/calcium stearate
c) et i?—EZIQE/magnesium stearate d) e Teaie/ferric stearate

. 6 @A, 8 AL dur 10 A & uredl @ gord T FHIOT T SFFA ... el

Area of a triangle having side 6cm, 8cm and 10cm is

a) 48cm’ b) 60cm’ ¢) 30cm® d) 24cm®

The reaction that takes place in atom bomb is

a) ATTHRIT HITeled/Nuclear fusion b) AR @S/ nuclear fission
c) GYATUIHIUT/atomization d) adVT/condensation

. Tordlr YfSaN-ufeha URATY] ST TR o HOT IS ST § A SR GSHATA



10.

11.

12.

13;

14.

When an o particle is given out by a radioactive atom its mass decreases by

a) 2g@c/mits  b) 6 AT units c) 4 gf=Ic/units d)2.5 g/ units

UH & Held F & IGEET o $r FEar ¥ e 8 £
Two isotopes of the same element differ by number of

a) Wela/Protons b)elFisl/ electrons

c) CIIi?[E:iH/positrons d) ?QI'&"\I‘?T/ neutrons

wgaell @l TATACT oo, garT giAa faar ST &

Stability of nuclei is indicated by

a) p/m3feidic/ratio b)n/p He]dTcl/ratio  ¢) n/e Hﬂq'lﬁlratio d) e/n 3e]4Td/ratio

A& UF XA F ARG & Fggial B TCAT oo gl

i 2 .
The number of neutrons in the nucleus of an atom of ;3Al” is

a) 40 b) 13 )27 dy14

3Ed GRON & ST AT F S0 IR F S FHY faggd-FHoTe

As we move from left to right of the periodic table, the electronegativity

a) S&dl g/Increases b) gedl g/decreases c) 39afdd/no change d) [ d/zero

TF TN F a1 aBw &, o 3ifdcard A #d| YA aTsa He°HIT A THIA
FEATOR A.H. oGS F sag 2l £, 58 & Ucdd WEUA H @6 U Siearen
I R gl

=
A car has two wipers, which does not overlap. Each wiper has a blade of length R cm, sweeping

through an angle of 6°. The total area cleared in each sweep of blade is:

a) 2{(0/360)xTIR*}  b) B/360xTIR? c) 2{(8/360)x21R } d) 2{(8/360)x21R}

v

AIfZTH FT MFHSS oo 2 1/The oxide of sodium is
a) 3FAT/Acidic  b) &TIF/ basic ¢) 3¥AUH /amphoteric  d) TCEU/meutral

SFToeT T 37TFYT hIA-aT §2/Which are the allotropes of carbon
a) #RT/Diamond b) IHTSE/graphite  ¢) Footel/lamp black d) T#/all

2



16.

17.

18.

19.

20.

21

22,

23,

B H 39TRUT U e &1/The bonds present in diamond

a) T/ Tonic b) Hegdrsish/covalent c) fAE&emh/coordinate
d) '\’:i'g?’rlff'f/ conjugate

......................... & wfafafcs &g yged 9T §F & CnHan

CnHyn is the general formula used to represent

a) HTeohel/Alkanes b) 3TTeehra1/alkynes ¢) 3TeehlsT/alkenes

d) JTehTsTSd/alkadienes

1 #AlxX zﬁglér a1 AA. A & tAEEA e (FgaAar 2.7gmice) FTOHR

...................... ?.'lWeight of aluminum sheet (density 2.7gm/cc) of size 1 meter width and 1mm

a) 27kg b) 2.7kg ¢) 0.27kg d) Ikg
M7 e HATHEAT & 31t a1 §1/Methane undergoes addition reaction
a) H&l/True ‘ b)3Teld/false ¢)TdT T61/don’t know

wmm*mﬂwmm

Sodium compound used for washing purpose

a) NaHCo3 . b) NaOH ¢) Na2 CO3 d) NaCl

qred 2 d IFd T THUTRS TARIUT T &% el/Area of a equilateral triangle with side ‘@’
a) 3/4a’ b) V3/2a” c) V3/6a° d) V3a®

or-dr ge Frsl'lé' ......... H gEd oI grar ?!C—C bond length is the shortestin
a) UdA/Ethane b) UidelleA/ethylene c) telfeeNe/acetylene  d) TAATel/ethanol

AT &1 92T Foita gedt & T & qUr T6E &1 F Tl &k § A
fFIT STAT & |Following are used in making perfumes and as flavoring agent

a) U¥cI/Esters b) Ueehigei/alcohols c) held/ketones d) 3Fel/acids .

IE FTEEE FIA-AT & S STenvafed A€l §1/The halide that is not hydrolyzed is
a) SiCly b) SnCl, ¢) PbCl, d) CCly



2. FARfRT & FiF-87 TF 3FIRY FIEEEC 67

Which of the following is non- reducible carbohydrate
a) g?--I‘\ﬁ'v\“f/Glucoge b) ShereTd/Fructose c) ﬂﬁ?/sncmse

d) Eﬁé’ oY Agi/none

25. Sy &l ER3RY ATH/Another name for dextrose

a) W/Glucose b) e d/Fructose c) ﬁﬂuﬂ'/sucrose
d) AT/ maltose
26. ATHRT RUFeT & TR TEAT A e & 9 7 ggFA fHAT ST E
In nuclear reactors, heavy water is used as
a) é‘Uﬂ‘/Fuel-‘ b)‘JI'&%W/projectile c) AcH/moderator  d) TaTHF/arrester

27. TEET WX AETREE Jfeass & & 9 HURT @R fov SedTer Hds

............. &1 The volume occupied by two moles of nitric oxide at STP is

ay 11.2L b)22.4L c)44.8L d)5.6L

28. AT & e % 37T Te! FU«/The correct statement according to boyle’s law

a) P/T = f&2RT&/constant b) PV = f&2RTe/constant
¢) V/T = & eF/constant ~ d) V/in= f&2RT®/constant

20.91eq ‘2’ { gFd Ueh TP FH TONT 8TDA oo gl
Surface area of a cube with side ‘a’ is
a) 6a’ b) 6a ) a’ - d)3a’
30. T RIUF Roccervirvivmmsrriasann fohv av F @1 gfafafica Fr &l

The gas constant R represents work done

a) 9fel 310]/Per molecule  b) gfa Bt [AX98T/per degree absolute
c) ufer f3afr 9fd T 3HUT/per degree per mole  d) EIGECIE 310T/per mole

31. CoHy 39T & o SISl T FEAT oo, gl

The number of ¢ bonds in CoH4 molecule is

a) 2 _ b)3 c) 4 ]



32.@@24@@3%@3:3:@@*@-%;%%#%
39fd £7How many electrons are present in the M-shell of the atom of an element

with atomic number 247
a) 5 b) 6 c) 12 d) 13
33. fafAa WSSt F ATHOT FiEA BT BT T s gl
Sum of the interior included angles in regular hexagon is
a) 720° _ b) 360° c) 480° d) 120°

34.mﬁmﬁm§%m$ﬁﬂm%§w%mm/

Catalyst used in ostwald’s process for the manufacture of nitric acid

a) F&HA T § Taenfaa Sg/Finely divided iron
b) ceifesliad TEIEC H/platinised asbestos
¢) TASTH Ueciaarss/vanadium pentoxide d) 13?:!315317-”/&lumina

35. TSIEHAT & ST eI HEI: ..., s % HRUT 8T gl
Ozone depletion in the stratosphere is mainly caused by
a) SO b) NO, c)NO ‘ d)mﬁ\mﬁlchloroﬂuorocarbons
36. AGT AT TEATT 39T ¥ AT T e Tg¥h e gl
Pollutants released from iron and steel industry are
a) COz, NOQ,HgS b) CO,C02,802
c) CO,, SO3,NO2 d) CO,,NO ,S0s
37. ASTAETSS 3T & [Aaesiarel HTT TeUF ..o gl
Main pollutant from automobile exhaust is
a) Co b) CO, c)NO d) NH;
38. eI & TG TRl & HABIRT o & HROT A FAC &
Fish die in water bodies polluted by sewage due to
a) MUT/Pathogens b) TFATSTsT hl HAl/reduction in oxygen
c) sce/foul smell d) TaTe # gRade/change in taste

5



39. fFafaf@a 7 Fia-ar = g3g T a8 &2

40.

41.

42.

43.

44.

45.

46.

Which of the following is not greenhouse gas?
a) #HrAeT/Methane b) FTEA STSHTFETSS/carbon dioxide c¢) CECS

d) CH; Br dr™9/vapour

STl H HCIEF10® m fAerasr &1 PR gl '

The P of a 10™ m solution of HCI in water is

a) 8 b) -8 c)7 dUT 8 & &I H/between 7 & 8
d)6 T 7 & €1 Albetween 6 & 7

';ﬂ'fﬁlﬁ aur o 3cUeed UTAT T p" FI7-§2/What is the pH of natural rain water

a) 5.64 : b) 5.70 ¢) 7.00 d) 7.40

TH HSHIT oeeerereriereennn, &1/One micron is

a) 0.lmm b) 0.001mm ¢) 1mm d) 0.0lmm

AT Co (9) + % 0, (g) => COz (g) & TIT Kp/KcHhl A ... Bl .

The ratio of Kp/Kc for the reaction Co (g) + %2 O, (g) &= CO, (g) is
a) 1 b) RT ¢) RT)" d) (RT)™"*

gaifes HoT egearel decd &1 SEIdH Felagliaih HEIUT g/The outermost

electronic configuration of the most electronegative element is

a) ns’ np3 b) ns’ npﬂr ¢) ns? np5 d) ns* np6

Frafefag & Fadr 3mger Bsar geu a9 32

Of the following which has the largest ionic radius

a) Lit b) Na* ¢) mg** d) Cs*

fFrafafaa & v gfafafas goe a8 8l

One of the following is not a representative element

a) Na b) Mg c) Al d) Cu



47.

48.

49.

30

5.

52.

53

‘& Hifded & Alsd o fraey GG ?‘?/The number of nodal planes ‘d’ orbital has

a) 1 b) 2 c)3 d)R[=T/zero

R 3HFSH 9 q=r & JY HART AT & a9 e, &ar gl
Grignard reagent when reacts with water gives

a) 3fTeohed/Alkane b) HTeehiel/alkene c) HTehrs1/alkyne
d) S=aiteT/benzene

3T dIUATT 9T 3TTAY HTedhadl & AeTal el & &9 H Jugied g A=
. — Hed %IHigher alkanes decomposing into lower alkanes at high temperature is
called _

a) $75TeT/Cracking b) Ggl/combustion

c) saigelfaad/electrolysis  d) 3RATER O/ aromatization

HTATFIT & SN BT Feg KMnO,FHT §9:T T 38 ST o, $r
IUTRUfY & T ve gdeqor gl

As purple color of dil cold KMnO, disappears during reaction is a test for presence of

a) 3§ dis/Double bond b) Teshigel/alcohol
¢) hele/ketone : d) UHT d9/amine group

gAH O Fi-ar Ve & Ty FTATRAT FET HIEM?

Which of these will not react with acetylene

a) NaoH b) AgNos ~¢)Na d) Hel

60 F.HY. FT U &3 U FHHIOT ST §U Sfhd &1 TH 9ed 10 HAL Bl GERT

1 A gl
A rod of length 60cm is bent to form a rectangle. One side is 10cm. The other side is
a) 15cm b) 20cm ¢) 25cm d) 30cm
deailel ! el ol smoesivamn & |/Resonance energy of benzene is
a) -49.8Kcal/mol b) -36Kcal/mol c) +36 Kcal/mol d) -28.6 Kcal/mol

¥



54.

55.

56.

57

58.

39,

60.

VAR FoRISE & Th SToli faerdel &I o gl o ol Fdel T

Heating of an aqueous solution of aluminium chloride to dryness will give

a) Al(oH) Cl, b) ALO;3 ¢) ALLClg d) AICl;

HCIFAT HNO;® AFafai@d 3ard 7 AT s 3o sard £l
Aquaregia is formed by mixing HCI and HNOj in the following ratio
a) 1:1 b) 1:2 c)1:3 d) 3:1

o gikar & fArafaf@d 1 g S gl

Contact process is used for manufacturing the following

a) HNO; b)HCl ¢) H,S04 d) HC104
3iTTedies UihaT & Ugad ATHERS ..o, gl

The reactants used in Ostwald process are

a) NH;,0, b) 5,0, ¢) Nacl,H,SOq4 d) MnO,,HCI

Teh god 1 IR 66mm &1 3R A fohealr §7

Circumference of a circle is 66mm find its diameter.

a) 21lmm b) 42mm ¢) 33mm d) 11mm

The catalyst used in the Haber’s process is

a) eoliagH/Palladium b) V,0s ¢) Fe,03 d) MnO,
el &1 ATT o, #r 3ufeafa & g gl

Hardness of water is due to the presence of

a) CaCl, b) MgS0q4 c) Ca(HCos), d) all the above



